FFivE

d

1207 (=4

_______________E._

ME:v9OLEYITTUM (SCM435)
cEAE : =Moo A—F (B)

L& BMEE:.10. O

s 2;% Z\V?’% B Kk m t i 1{% Z\\‘/g"% B Kk m t
B730-0305 M3X5 0.5 5.5 3 2.5 1.3 B730-0610 M6X10 1.0 10 6 5 3
B730-0306 M3X6 0.5 5.5 3 2.5 1.3 B730-0612 M6X12 1.0 10 6 5 3
B730-0308 M3X8 0.5 5.5 3 2.5 1.3 B730-0615 M6X15 1.0 10 6 5 3
B730-0310 M3X10 0.5 5.5 3 2.5 1.3 B730-0620 M6X20 1.0 10 6 5 3
B730-0312 M3X12 0.5 5.5 3 2.5 1.3 B730-0625 M6X25 1.0 10 6 5 3
B730-0315 M3X15 0.5 5.5 3 2.5 1.3 B730-0630 M6X30 1.0 10 6 5 3
B730-0320 M3X20 0.5 5.5 3 2.5 1.3 B730-0810 M8X10 1.25 13 8 6 4
B730-0408 M4X8 0.7 7.0 4 3 2 B730-0812 M8X12 1.25 13 8 6 4
B730-0410 M4X10 0.7 7.0 4 3 2 B730-0815 M8X15 1.25 13 8 6 4
B730-0412 M4X12 0.7 7.0 4 3 2 B730-0820 M8X20 1.25 13 8 6 4
B730-0415 M4X15 0.7 7.0 4 3 2 B730-0825 M8X25 1.25 13 8 6 4
B730-0420 M4X20 0.7 7.0 4 3 2 B730-0830 M8X30 1.25 13 8 6 4
B730-0425 M4X25 0.7 7.0 4 3 2 B730-0835 M8X35 1.25 13 8 6 4
B730-0508 M5X8 0.8 8.5 5 4 2.5 B730-1015 M10X15 1.5 16 10 8 5
B730-0510 M5X10 0.8 8.5 5 4 2.5 B730-1020 M10X20 1.5 16 10 8 5
B730-0512 M5X12 0.8 8.5 5 4 2.5 B730-1025 M10X25 1.5 16 10 8 5
B730-0515 M5X15 0.8 8.5 5 4 2.5 B730-1030 M10X30 1.5 16 10 8 5
B730-0520 M5X20 0.8 8.5 5 4 2.5 B730-1035 M10X35 1.5 16 10 8 5
B730-0525 M5X25 0.8 8.5 5 4 2.5 B730-1040 M10X40 1.5 16 10 8 5

7 — B [=] [=]
P TrRusco SAADWAREEL | "Cms 01— rrmrusn e |8 8730-0000




